Exponentlal and Logarithmic Functions Lesson #9:
Practice Test

No calculator may be used for this section of the test.
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1. The graph that best represents y = ab*, where a < 0 and b>1, is
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3. The domain of the function 8(x) = logs(x +4) + 2 is
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4.  The equation of the asymptote of the graph of y = log(x ~ 5)+6 is
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5. The approximate value of logs31 is
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INUNRERAEL.  The diagram shows part of the graph of y = log,(x - a) where a,b EN.
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A graphing calculator may be used for the remainder of the test.

6. Solveforx. (n’)%* la (ﬁ)4x+6
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2. If ;’;— = 25, then the value of loggp - loggg, to the nearest tenth, is
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7. At which of these points is the relation logs(x + 1) + logz(x ~y) = log ;6 net deﬁned .
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9. If loggy=t, the value of log636y is [ l/\/
B. 1+36 0%(056‘?’9(93

C. 2 + ‘\/

@ t+2

10. Expressed as a single logarithm, logP~4logQ-logR is
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11. If loggp =logg q +r, where p>0 and q>0, then q 1sequalto
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3y .
If %4 and log, q = 2, then log, (pq”) is equal to

(Record your answer in the numerical response box from left to right.) \ 0

\0‘3\0 (‘("’C) = \03\)? ¥ \O%‘OOVS = \ggbp ¥ 3\09bo\/
| 4+ 3(Q)
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13. The domain of the function g(x) = 2+logx\((lz) X) is
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To the nearest hundredth, the y-intercept, of the graph of y = logs(x + 4) is
P
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(Record your answer in the numerical response box from left to right.) O . %/ é)
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In the equation log 64 = % , the value of x, to the nearest whole number, is

(Record your answer in the numerical response box from left to right.) ‘ 6 I

oh= X3

=51

19. When solving the equation log,(2x + 3) + log,(x — 2) = 2, an equation that could arise iS
A. 2%-x-6=0 eYoduct \aw ForL! 7 Y,
B. 2t%-x-8=0 \O%XY(&X\PB)()GQJ = .

C. x2+x-6=0
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20. The expression logx is equivalent to which one or more of the following expressions
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NMINSHE6.  If logsx =-0.02, then the exact value of log , x is equal to

Response 5

(Record your answer in the numerical response box from left tb right.)
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Written Response

Students are investigating logarithmic functions with base 2.
* The graph of y = 4 log,x is shown.

y
154

10 + y-4log2x

—P X

Complete the table which describes some of the features of the graph of y =4 log,x .

Domain )(\)( >O} X ER
Range 36&

x-intercept \

y-intercept NONe_

* Determine, in the form y = . . . . , the equation of the inverse of the graph of y = 4 logyx.
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* A student identifies the following law of logarithms on the formula sheet:
log, M" = nlog, M.

The student assumes that, because of this law, the graph of y = log2x4 will be identical to
the graph of y = 4 log,x.

Sketch a partial graph of y = log2x4 on the grid below to show that the student’s
assumption is not correct.
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